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October 02, 2019

Sep 30­1:19 PM

Completing the Square

Sep 30­1:57 PM

Homework Answers:

17)  {­1/3, 0, 2}

factor 1:
64x 3 - 1 = (4x- 1)(16x 2 + 4x + 1)

factor 2:
27x 3 - 8 = (3x - 2)(9x 2 + 6x + 4)

Notes 1st!
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Sep 30­1:50 PM

2nd à Factoring (see Unit 2 Day 2 notes)

Sep 30­1:52 PM
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Sep 30­1:57 PM



3 ­ per1 Completing the Square.notebook

4

October 02, 2019

Oct 11­11:16 AM

Sep 30­1:58 PM
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October 02, 2019

Oct 6­6:26 PM

Homework:

pg 217 - 218:
8, 12, 28 - 30, 32, 46, 48, 75

pg 37:
51

Graded due Thursday!

Oct 5­8:44 AM

The Politician Puzzle
A certain convention had one hundred politicians.  Each politician was either 
crooked or honest.  We are given the following two facts:
1)  At least one of the politicians was honest.
2)  Given any two of the politicians, at least one of the two was crooked.
Can it be determined from these two facts how many of the politicians were 
honest and how many were crooked?

The Lady or the Tiger?, Raymond M. Smullyan
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Oct 13­11:26 AM


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

